XKP

Pool Pump

Application
® |t is used for water circulation in all kinds of small domestic
swimming pools. Slightly dirty water with solids in suspension
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® Engineering plastic pump body 10
® AISI 304 shaft A 30
@ Max. liquid temperature: +35C — 9
® Max. suction: 3.5 m £ 8 XKP350-2 25
== 4 T L i
- 7 | \
2 ] XKP300-2 55
2 L
Motor S 6 xezsoz b .
. . . . = 7 \ [
©® Motor with copper or aluminum winding ? 5 \
o i £ 1 XKP450-2 15
e Built-in thermal protector for single phase motor ° 41 XKP200-2
® |Insulation class: F < 4 N
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Materials Table
No | _Par Waterisl | No. | Part | Waterisl |
Technical Data 1 Filling plug PP 14 Terminal box ABS
2 Pump body PP 15 Terminal board PC
- POWER(E) Q (mih) 5 s 7 = 5 = 5 5 77 3 Wamfamofnover PPO 16 Tennlnalbxtxeove( ABS 22 121 120} %9 18
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XKP200-2 200 55 48 4.0 30 18 06 - - - - p Ra:"g o :W;: Z::z
XKP250-2 250 69 63 55 46 36 24 1.0 - - - 7 Base PA 20 O-ting NBR
XKP300-2 300 - e 72 64 55 45 3.0 10 g L 108 biectiesiosi/seel i ICHEor| CoreTNg
("I) 9 Fan cover 08F 22 Impeller PPO
XKP350-2 350 8.4 7.7 70 62 50 38 23 08 s P pe % Sove =
XKP450-2 450 96 9.1 85 80 73 64 52 40 24 = " Rear cover 2102 2 O-ring NBR
12 Motor housing 21102 25 Nut ABS
13 Cable 26 Connector PC
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